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He is believed to make her lose her Ksuboh — 7IN2I02 779050 1AN]

OVERVIEW

XMW MK °"1 ruled that 9" nivv is believed N2> 77°097%. Previously (X,0) we
learnt that X"9 ruled that "o niv is believed Yoy 7702, Our MooIn discusses
whether these two views are contradictory or complementary.
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The > says that 5812w may well agree to X" that by "5 nivv he is believed

that she is forbidden to him (because he is *p2 in "), however "x1nw felt -
- 1PYNYNRY 1Y THHOLN NNAIN NV

That it is necessary to inform us that he is even believed 172105 1775027 -
- 'Mna NNoa 799 BYD7 2 YY GN 1IN XN N9T NI NYT

For one should not think that the husband should not be believed :17°0573%

7n21n2 even though he is proficient in recognizing a 5''®, since he is 17y 7I0X? K1,

nevertheless I may have thought that he is not 7in2103 77057 K1 -
- NN NPV 2‘117\9)3 92 N1”NT

For we may assume that he is lying on purpose in order 70210 7779027, therefore
XMW teaches us that we are not concerned that he is lying.

Mmoo discusses the view of X'":
= OONY INIT 920 25813 91) 995N 29

And R"1 (who ruled that %% 77018 12X1) may also maintain like 7X1w that he is

believed 1102100 17908 -
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And X"1 mentioned only $799I8> as a novelty that he is believed even 19y 710185,
and he is certainly believed nnawn> 7oo5a% as is evident from the NX=»3
previously.

"If he would not be 72 in 9"9 he would not be 7¥ 7I0IR? 1K1 since there is a 7> NPIN and a XpP°50 PoO.
% X" teaches us that he is *p2 in 8" (there is no reason to assume he is lying since it will prevent him from being
with his wife). PXmWw teaches us that (in addition to being °pa in 9"9) he is not suspect to be lying for monetary gain,
as the X7 explains later (X,”) that there is a P that 77°0911 77102 770 QTR PX. See "wA there PX 7"7 that if he
dislikes her, why go through the wasted expense of 1RW°1 n71w0, he could have divorced her previously.
? See “Thinking it over’ # 3.
* See previous X 7"7 '010 that regarding 021> 7770977 the husband has a 7 NP, which empowers him 770977
7n21n3, however regarding 1°2y 710W? she has a In°71 npm which may lead us to assume that he is not 770X 1K1
15y, therefore X" teaches that nonetheless he is 1281 even 1°%¥ 710X,
> See the beginning of the previous *X 7"7 '01n [TIE footnote # 3] that according to »aX it seems that even if he is not
1YY 770X 1181 he will be 7102100 77°097% 1AK1.
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[However from the 251> 71250 it appears that according to X' he is not
believed 170202 7995519, but only 19y 105

SUMMARY
Both X"9 and ?X1Mw may agree that 5"5 n1yv is 15¥ 710IR? 181 and 7102105 77°09:75.

THINKING IT OVER
1. Why must o010 assume that YXmw agrees to X" that 179¥ 770IK% 7ax12°

2. According to Mmoo that the w17 of 2X1W is (seemingly) that we do not assume
that he is lying, why was it necessary for 2X1W to say his ruling by 5"5 niyv and
not by o'n7 nwu?’

3. Regarding s™Xww view moow writes 7Y 7I0R? ARIT DY TN IRMAWT
(indicating a measure of certainty), however regarding the view of X"2 we find that
mMooIn writes more moderately that 770979 AXI17 720 *¥n »1 x"N.'° Why the
difference?"'

6 X":7 X"D (in our 7w on 2,3). The *n>w ™ there (X,2) mentions various cases where she receives her 72103 but his
is n»p% MoK, and concludes that the reason why 72*p% MK is because of the ruling of X"9 that 8"5 N1y is K1
179V IO,
75" on 1K1 77 R,V also maintains (like the "nPw) that according to X" he is not N2 770977 1K1,
8 See nxpn now.
o See 171 MR PrX° 070,
10 See footnote # 3.
' See NX2pn v w and 0278 NN,
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